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Let (x0,%0), (z1,y1), and (x2,y2) be the Cartesian coordinates of the three
vertices of a triangle.

Let (x,y) be the Cartesian coordinates of a point that could be inside or outside
of the triangle. The barycentric coordinates («, 58,) of that point are:

_ (y1 —yo)x + (o — 1)y + Yox1 — Toyn
(y1 — yo)z2 + (0 — 1)y2 + Yox1 — ol

_ (2 —y)z+ (01 — 22)y + Y175 — T2y
(y2 — y1)xo + (21 — x2)Yo + Y122 — T1Y2

(Yo — y2)x + (v2 — 20)y + Y2To — T2yo
Yo — Y2)T1 + (2 — 20)y1 + Y220 — T2Yo
=10—-a-p

T

A point (z,y) is inside the triangle if 0 <a <land0< g <land 0 <~y <1.

Write a program that prints true if a point (x,y) is inside a triangle whose
vertices are (o, yo), (21, y1), and (z2, y2), and prints false if the point is outside
the triangle.

Include a main() method and at least one other method in your program. In-
clude code that defines the vertices of a triangle plus a fourth point. Include
code that tests if the point is inside the triangle and reports the result of the
test.

Annotate your program with Javadoc comments. Include in these comments
information about authorship, version, and the license under which you are



releasing the software. Include also a hyperlink to an article that explains more
fully how to determine if a point lies inside of a triangle.



